Proof of predictive deconvolution

For a=1:

x(t) = (x0, x1, x2, x3, x4)

d(t)=x(t+1) = (x1, x2, x3, x4, x5)

Cross-correlation

g(t) = d(t) ® x(t) = x(t+1) ® x(t)
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Auto-correlation

r(t) = x(t) ® x(t)
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=X0x1+Xx1x2+x2Xx3+x3X4+x4x5
=X0x2+x1x3+x2x4+x3x5
=X0x3+x1x4+x2x5
=x0x4+x1x5

=x0x5

=X0"24+X1M2+x212+Xx3 M 2+xX4N24+Xx572
= XOx1+x1x2+x2x3+x3x4+x4x5=g(0)
= XOx2+x1x3+x2x4+x3x5=g(1)

= X0x3+x1x4+x2x5=g(2)

= xOx4+x1x5=g(3)

=x0x5=g(4)



